
1.  60𝑔 

2.  20𝑘𝑔 

3.  £300 

4.  80𝐿 

5.  110 𝑚𝑚 

6.  $460 

 

1.  32 𝑚𝑚 

2.  89 𝑠𝑡𝑜𝑛𝑒 

3.  £47 

4.  28𝑝 

5.  87𝑘𝑔 

6.  4𝐿 

  

1.  8.9 𝑘𝑔 

2.  £3.40 

3.  3.9 𝑔 

4.  19.2 𝑐𝑚 

5.  1.7 𝑚 

6.  9.3 𝑘𝑚 

  

1. Work out upper bound of the 

perimeter to the nearest 

metre. 

 

 

 

 

 

7.  560 𝑐𝑚 

8.  600 𝑚𝑙 

9.  40 𝑘𝑚 

10.  330 𝑐𝑙 

11.  370 𝑚𝑖𝑙𝑒𝑠 

12.  220 𝑝𝑜𝑢𝑛𝑑𝑠 

 

 7.  564 𝑚𝑙 

8.  $67 

9.  23 𝑐𝑙 

10.  845 𝑔 

11.  9 𝑘𝑚 

12.  123 𝑐𝑚 

 

7.  6.1 𝐿 

8.  8.1 𝑠𝑡𝑜𝑛𝑒 

9.  121.6 𝑖𝑛𝑐ℎ𝑒𝑠 

10.  2.3 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 

11.  256.7 𝑚𝑙 

12.  4.5 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

 

2. The circumference of the Earth is 

40,075 𝑘𝑚 to the nearest 𝑘𝑚. 

 

a) What is the lower bound? 

 

 

b) What is the upper bound? 

 

Lower and upper bounds 
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